Calculus 12 Ch. 7 and 8: Trigonometric and Exponential Derivatives

1. Differentiate
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Section 8.4 — Practice Problems
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Calculus 12 Ch. 7 and 8: Trigonometric and Exponential Derivatives

h) y=(x+Inx)3

}/: 3(><+im<§l~(ﬁ+ )

L
¢ ¥

i\/ T lmﬂl( L+ L)

2 2
= —3)(5_@_( . Xz(\‘Slnx)
6

A %

= “"3(»’\;(
x‘+

2. If f(x) =In(Inx), find f'(x)
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3. Find the derivative of each function

a) f(x) =logy(x* +1)
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b) g(x) =xlogsox
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Calculus 12

c) f(x) =logs(3x - 8)
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Ch. 7 and 8: Trigonometric and Exponential Derivatives
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Calculus 12 Ch. 7 and 8: Trigonometric and Exponential Derivatives

5. Find the equation of the tangent line to each curve at the given point.

a) y=In(x—-1); (2,0)
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b) y=x%Inx; (1,0)
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